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1. IfX), ..X,are nindependent variables such that each expectation E(X)) exists,
then B(X; - X - X5.. X)=EX)EX;) ... E(Xy)

2. A Type II error is defined to be the probability of failing 1o reject a false null
hypothesis.

3.  Suppose that the variable under consideration is normally distributed on each of
the two populations. Then for the independent sample size of n) and np from the

S:/S:

e has the F distribution with degree of freedom
ot o]

two populations, then F=

(n1-1, ny-1).

4. For the standard normal random variable z, P(z = 0) is 0.5.

5. The matched-pair 7 test is used to test the difference of two means when the two
selected samples are independent.

6. The mean and the variance for the z distribution and the # distribution are the
same.

7. The x? (chi-square) goodness-of-fit test is always demonstrated as a right-tailed
test. :

8. A 90 percent confidence interval for a population mean implies that there isa
0.90 probability that the population mean will be contained in the confidence
interval. ’

9. - One property of the distribution of sample means is that if the original population
is normally distributed, then the distribution of the sample means is also

} normally distributed, regardless of the sample size.

10. If the random variable X, Xa,...X, form n Bernoulli trials with parameter p and

if X =X;xX,...xXy, then X has a binomial distribution with parameter » and p.
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11. If two events A and B are independent and P(A) #0-and P(B) #0 , then
(A)P(AB) = P(ANB)
(B)P(AB) =P(A)P(B)
(C)P(ANB) #0
D)PAB)=0
(E) none of the above

12. In hypothesis testing, the level of significance is the probability of
(A)failing to reject a true nuil hypothesis.
{(B) failing to reject a false null hypothesis.
(C) rejecting a false null hypothesis.
(D)rejecting a true null hypothesis.
(E) none of the above
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13. For the following information, n=16 w,=15 X=16 s?=16, assume that the
population is normal. Compute the test statistic for testing for a population mean.
(A)z=1
(Byz=1/4
(Cyt=1
D)t=1/4
(E) none of the above .

14. An advertising agency would like to create an advertisement for a fast food
restaurant claiming that the average waiting time from ordering to receiving your
order at the restaurant is less than 5 min. The agency measured the time from ordering
to delivery of order for 25 customers and found that the average time was 4.7 min
with a standard deviation of 0.6 min. The appropriate set of hypotheses to be tested is

(AYHo: p< 47vs. Hpi: p >4.7.

(BYHo: pn= 47vs. Hy: p <4.7.

(CYHo: w= 5vs. Hi: p <3,

(D)YHo: p< Svs. Hi: pu >5.

(E) none of the above

15. If two small samples are selected independently from two different normal
populations with equal variances, the sampling distribution of the difference of the
sample means

(A)has a mean that is the difference of the two sample means.

(B) has a variance that is the difference of the two variances for the two

populations.

(C) has a distribution that is normal.

(D)has a ¢ distribution.

(E) all of the above

16. Consider the table below, formed by cross-classifying age group and brand of cola

consumed.

Under age 15 Age 15-25 Age 25-35
Cola 1 150 100 200
Cola 2 300 125 200
Cola 3 300 200 300

If you were to test whether there is any difference in the proportions of people
consuming the different brands based on age, the test statistic will be
(A)31.029.
(B) 26.035.
(C) 30.99%6.
(D) 31.035.
(E) none of the above is correct
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17. A group of foreign students who would like to study in the United States
registered for a special TOEFL (Test of English as a Foreign Language) preparatory
course offered in their home country. They tock a sample examination on the first day
of classes and then retook it at the end of the course. The results for six of the students
are given below. )

Student 1 2 3 4 5 6
Before 325 495 525 480 5235 480
After 375 520 510 515 550 490

If you want to determine whether the course helped to improve the students’ scores,
the appropriate degrees of freedom for the appropriate test are

(A) 6.

(B) 12.

(C) 5.

(D) 11,

(E) none of the above

18. X,Y.,Z are independent and E(X)=1, E(Y)=3, E(Z)=5 Var(X)=3, Var(Y)=1,
Var(Z)=2, What is the mean and variance of 2X+3Y

(A)mean=11, variance=21

(B) mean=11, variance=9

(C) mean=>5.5, variance=9

(D)mean=11, variance=4

(E) none of the above

19. When computing the sample size to help construct confidence intervals for the
population proportion, for a fixed margin of error of estimate and level of confidence,
the sample size will be maximum when

(A)p=0.25.

B)(1 -p)=0.25.

(©)p(1 -p) =0.5.

(D)p=0.5.

(E) none of the above

20. Which of the following is true? The ¢ distribution should be used when
(A). the sampling population is nonnormal.
(B). the sampling population is unimodal.
(C). the population standard deviation is unknown, the sample size is small, and
the sampling distribution is normal.
(D). the population standard deviation is known.
(E). none of the above
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(1) Thick Description

(2) Nomothetic Caunsality

(3) Deductive Theory Construction
(4) Longitudinal Studies

(3) Index Validation
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